1. Simplify the expression. (£15.s717)11
A, £-3856

B. £1575-195

C. 1514201

D. 21511

E. £26576

F. 1655187

G. £ 1755177

H. 2943



2. Simplify the expression. (
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. Simplify the expression. ;@—ii



4. Write the expression in expanded form. (62 + y)*

A. (6z+y)  (6x+y)- (6x+y) (6x+y)-  (6z+y)- (6x+y)-  (6x+y)- (62+y)
B.6z+y+6x+y+6x+y+6x+y

C. =6z + y*

D. (6x +y) - (6 +vy) - (6z+y) - (6z+y)

E. 24z 4 y*

F.éx+y+br+y+br+y+6r+y+6r+y+6rx+y+6x+y+6x+y



5. Write the expression in exponential form. (s+1¢t) - (s+¢t)-(s+1t)-(s+1t)-(s+1)
A 5s+t°

B. 5(s +1)

C.5s+t

D.s+1t°

E. (s+1)5

F.1ls+t*



6. Factor the following quadratic polynomial. r? 4+ 2r + 12
A (r=3)(r—5)

B. (r+3)(r+4)

C.(r+3)(r+5)

D. (r—3)(r—4)

E. (r+2)(r—=6)

F. (r—3)(r+5)

G. Not factorable. This trinomial is prime.

H. (r—3)(r+4)



7. Write a polynomial for the area of the figure below.

(4x + 1) cm

(5x — 2)cm

A. 2022 — 32 +2
B. 2022 =3z —1
C. 2022 + 3z — 2
D. 2022 + 3z + 2

E. 2022 — 3z — 2



8. Multiply the polynomials. (4y? —y — 8)(2y> — 9y)
A. 8y* — 383 — Ty? + T2y

B. 8y* — 36y° — Ty? + T2y

C. 8y* — 38y3 — 11y% + 72y

D. 8y* — 38y — Ty? + T2y — 5

E. 8y* — 38y3 — 7y% + 70y



9. Completely factor the polynomial using the strategy outlined in Section 6.5 in your textbook.

20p* + 9p°3 — 18p? 32

A. (p? —1)(20p + 38)(p — 65)
B. (p* +1)(20p + 38)(p — 68)
C. (p* +1)(4p — B)(5p + 188)
D. 4p%(20p — 38)(p + 65)

E. 4p*(4p + 38)(5p — 603)

F. p*(4p — 3B)(5p — 63)

G. p*(4p — 38)(5p + 65)

H. (p*> — 1)(4p + B)(5p — 180)



10. Factor the polynomial by grouping. &y + €u + 7y + Tu
A (Y+T7)(E+u)
B. (u=T7)(y+¢)
C.€+u)(v+7)
D. (u+T7)(v+¢)
E. (y+7)(€ -
F.o(€+7)(T+u)
G. (§+7)(v+u)

H (=77 +u)



11. Factor the following quadratic polynomial. 5y2 — 12y — 8
A (5y+1)(v—28)

B. (57 +2)(v+4)

C.BGy—4)(y—4)

D. Not factorable. This trinomial is prime.

E. (57— 1)(v +38)

F. (5v=8)(y—38)

G. (5y+1)(v+38)

H. (57 —2)(y +4)



12. Solve the equation. u? 4+ 16u +63 =0
Au=—-4oru=-2
B.u=-7Toru=-10
C.u=-9oru=-7

D.u=70oru=10

E.u=5oru=3

Fu=4oru=2

G.u=-5oru=-3

Hu=9%9o0oru=9



13. Multiply the polynomials. (522 + 4)(52% — 4)
A. 25z +16

B. 252* — 4022 + 16

C. 2522 + 4022 — 16

D. 252* — 16

E. 162 — 25



14. The polynomial expression A2 + B2 is
A. a square of a difference

B. a sum of two squares

C. a square of a sum

D. a difference of two squares



15. Subtract the polynomials. (—6s% — 2s — 8) — (—5s?)
A 8st — 253 — 52 —25-8

B. 8s* 4253 — 1252 — 25 — 8

C.2s% —25s—38

D. —s?—-2s—6

E. —s?—-25—-8

F. —s2—-35-8

G. 653 —52—-25—38

H —8s*—s2—-25—8



16. Subtract the polynomials. (—4v + 3) — (—6v + 5)
A —3vt + 403 + 20 -2

B. —3v* —40% + 20 -2

C. 30" +2v -2

D.2v 48

E. v2 420 -2

F. 6v—2

G. 2v—2

H. 3v3 +2v -2



17. Factor out the GCF. (14a + 9)(15w) — (14a + 9)(8p)
A. (14a + 9)(15w + 8p)
B. (14a +9)(15w — 8p)
C. (8p+9)(14a + 15w)
D. (14a — 9)(15w + 8p)
E. (15w)(8p + 9 + 14a)
F. (15w)(14a + 9 — 8p)
G. (8p)(14a + 9+ 15w)

H. (14a)(8p + 9 + 15w)



18. Factor out the GCF. 3z%¢® — 922¢
A. 3z¢*(22%¢ — 2)
B. 322¢(22¢? — 3)
C. 3¢ (22%¢* — 2)
D. 22¢%(22° — 2¢)
E. 22¢%(22 — 2¢*)
F. 22¢%(42? — ¢?)
G. 23¢*(42% — ¢?)

H. 23¢(1 — 22%¢%)



19. Completely factor using the forms for perfect square trinomials. 2562 + 20b + 4
A. (26 +5)(2b+ 3)

B. (8b+ 3)(6b+4)

C. (8b+2)(6b+2)

D. (5b+1)(5b+4)

E. Not factorable. This trinomial is prime.

F. (250 +2)(b+2)

G. (5b+ 2)(5b + 2)

H. (5b+ 3)(5b + 4)



20. Factor the polynomial. 6422 — 25
A. (82+5)(8z—5)

B. Not factorable.

C. (642 + 5)(8z — 25)

D. (64z — 5)(8z — 25)

E. (82 —5)(8z —5)

F. (64z + 5)(8z + 25)

G. (82 +5)(8z+5)

H. (52 +2)(72 +4)



12. C.

13. D.

14. B.

15. E.

16. G.

17. B.

18. B.

19. G.

20. A.

Answers



